
Q1) a) What is conditioning of metal powders? Why is it done? [8]

b) Explain Term: [8]

i) Electrical Contact Materials.

ii) Cermets.

OR

Q2) a) What is powder Metallurgy? Discuss advantage and disadvantage. [8]

b) Write note on: [8]

i) Diamond impregnated Cutting Tools.

ii) Cemented carbide tipped tools.

Q3) a) Define following: [10]

i) Ferrite

ii) Austenite

iii) Pearlite

iv) Cementite

v) Bainite

b) Classify C.I.? And give its application. [8]

OR
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Q4) a) What is steel? What do you understand by eutectoid, hypereutectoid
and hypoeutectoid steel? [10]

b) Explain the following with neat diagram. [8]
i) Sensitization of steel.

ii) Eutectic transformation.

Q5) a) What is temper embrittlement? How it is avoided? [10]
b) Explain terms: [8]

i) Quenching

ii) Normalizing

OR

Q6) a) Define hardenability. How it is measured? [9]
b) Write note on : [9]

i) Carburizing.

ii) Nitriding.

iii) Carbonitriting.

Q7) a) Write note on High temperature alloy. [9]
b) Give composition and properties of any three bearing materials. [9]

OR

Q8) a) Write note on copper and its alloy. [9]
b) Write note on Composite Material and Nano Material. [9]
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